Czech II: Progress Test 1  (40 points), 25 minutes
1. Put the words in brackets into the correct forms 
· accusative: adjectives + nouns
· locative: L6
· instrumentál: L2 (transport forms)
2. Fill in the correct preposition. (choose from the box, 2 extra prepositions)
	possible prepositions: v, na, u, od, do, z, [no preposition]



3. Put the verbs in brackets into the correct form of present tense.
Example: Martin __________ (jít) do kina. → Martin jde do kina.

4. Rewrite the sentence in the past tense.
Example: Nemám čas. → Neměl jsem čas.

5. Complete the correct question word/words. 
Example: ___ se máš. → Jak se máš?

6. Fill in the verbs znát, vědět, umět in correct form of present tense.
Example: (já) __________ anglicky. → Umím anglicky.




